         POTREBA  MASLINE  NA   N P K
3.000   kg   ploda  po  hektaru      

1  hektar  =  250   STABALA

1 stablo   ( 10-15  god )  =  12  kg

                       N  =  130   kg 

                       P  =    80   kg      

                       K  =  180   kg  ( S  sumpor )

A to je :

        NPK  7-14-21      =   2,5  kg    po stablu      

  +    UREA                  =     1   kg             ( ili 2 kg.  KAN )          

  +      stajnjak

Ako se gnoji s  ORTFRUTCAL-om

                                     =   3   kg  po stablu                

                                     +   1   kg  UREA          ( ili 2 kg KAN ) 

                                         bez stajnjaka

